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1. Gas welding plant process used Fire Extinguisher? 
÷Pì öÁÀi[&ß ÷£õx GØ£k® wø¯ AønUP G¢u ÁøP w¯øn¨£õß 
£¯ß£kQÓx? 

(A) CO2 Extinguisher 

 CO2 w¯øn¨£õß  

(B) Foam Extinguisher 

 L÷£õº® w¯øn¨£õß   

(C) Dry powder Extinguisher 
 møμ £Ähº w¯øn¨£õß  

(D) Cooling water 
 T¼[ Áõmhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

2. Temperature of Oxy-LPG flame is  
BUê&GÀ.¤.â. w¨¤Ç®¤ß öÁ¨£{ø» ___________.  

(A) 2400°C to 2700°C 

 2400° ö\À]¯ì •uÀ 2700° ö\À]¯ì •i¯  

(B) 1800°C to 2200°C 

 1800° ö\À]¯ì •uÀ 2200° ö\À]¯ì •i¯   

(C) 2700°C to 2800°C 

 2700° ö\À]¯ì •uÀ 2800° ö\À]¯ì •i¯ 

(D) 1825°C to 1875°C 
 1825° ö\À]¯ì •uÀ 1875° ö\À]¯ì •i¯ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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3. In gas welding, to weld 8.2 mm thick plate —————— number 
nozzle is used. 
÷Pì öÁÀi[QÀ 8.2 mm ui©ß öPõsh ¤÷Ímøh öÁÀk ö\´¯ 

£¯ß£kÁx ___________ Gs öPõsh |õ]À BS®. 

(A) 10 (B) 25 

(C) 7 (D) 5 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

4. What is the name of machine which convert AC in to DC current? 
H.]. ªß\õμzøu i.]. ªß\õμ©õP ©õØÖ® G¢vμzvß ö£¯º GßÚ? 

(A) Motor generator set 
 ÷©õmhõº öáÚ÷μmhº ö\m  

(B) Rectifier set 

 öμUiL£¯º ö\m   

(C) Engine generator set 
 Gßâß öáÚ÷μmhº ö\m  

(D) Inverter set 
 CßÁºmhº ö\m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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5. Which one of the following colour is Nitrogen cylinder? 
ø|mμáß E¸øÍ°ß {Ó® GßÚ? 

(A) Yellow (B) Grey 

 ©g\Ò  \õ®£À 

(C) Black (D) Maron 
 P¸¨¦  PõÂ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

6. Which one of the following, correct temperature for Oxy-Hydrogen 
gas flame? 
RÌPshÁØÖÒ Gx BUê&øímμáß _Áõø»°ß öÁ¨£{ø»? 

(A) 2100° C – 2200°C (B) 2400° C – 2700°C 

(C) 2700° C – 2850°C (D) 2600° C – 2900°C 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

7. Which safety instrument used for chipping welding jobs slag’s? 
öÁÀi[ ö\´¯¨£mh £o¨ö£õ¸ÎÀ P\kPøÍ ö\xUS®÷£õx GßÚ 
ÁøP £õxPõ¨¦ \õuÚ® £¯ß£kzu¨£kQÓx? 

(A) Welding helmet screen (B) Welding hand screen 

 öÁÀi[ öíÀö©m ìR›ß  öÁÀi[ ÷íßm ìQŸß 

(C) Hand gloves (D) Chipping goggles 
 øP²øÓPÒ  ]¨¤[ PõQÒì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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8. STEP-DOWN transformer which reduces the main supply voltage? 
ìöh¨ öhÍß iμõßì£õº©º SøÓUS® ö©°ß \¨øÍ ÷ÁõÀ÷hä BÚx 

(A) 110 – 200 volts (B) 220 – 440 volts 

 110 – 220 ÷ÁõÀmì  220 – 440 ÷ÁõÀmì 

(C) 100 – 120 volts (D) 80 – 90 volts 
 100 – 120 ÷ÁõÀmì  80 – 90 ÷ÁõÀmì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

9. Used to store oxygen gas safely and in large quantity under a
maximum pressure of  
AvP£m\ AÊzuzvß RÌ BUêáß Áõ² £õxPõ¨¦hß ÷\ªzx 

øÁUP¨£k® öPõÒÍÍÄ ___________. 

(A) 120 kg/cm2 (B) 150 kg/cm2 

(C) 100 kg/cm2 (D) 80 kg/cm2 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

10. What is the name of distortion occurs in the weld direction? 
öÁÀi[ vø\°À HØ£k® {PÌÄ E¸©õØÓzvØS ö£¯º GßÚ? 

(A) Angular Distortion (B) Bending Distortion 

 B[S»º/÷Põn E¸©õØÓ®  ö£si[/ÁøÍ¢u E¸©õØÓ® 

(C) Longitudinal Distortion (D) Tranverse Distortion 
 »õ[Qi²iÚÀ E¸©õØÓ®  iμõßìÁºì E¸©õØÓ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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11. Why are used welding helmet screen? 
öÁÀi[ öíÀö©m vøμ Hß £¯ß£kzu¨£kQÓx? 

(A) Protect the hands from electrical current 
 øPPøÍ ªß\õμzv¼¸¢x £õxPõUP  

(B) Should be made of leather and worm 

 ÷uõ¼ÚõÀ u¯õ›UP¨£mi¸¨£uõÀ QÈ¢xÂk®   

(C) Used as hand screen so we can use both hands in other work 
 øPvøμø¯÷£õÀ £¯ß£kzv öPõsk øPPøÍ ÷ÁÖ £oPÐUS 

£¯ß£kzv öPõÒÍ»õ®  

(D) Protect the eyes 
 PsPøÍ £õxPõUP £¯ß£kQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

12. The calcium carbide is a chemical compound consisting of weight i.e.
in 100 g. of  
100 Qμõ® PõÀ]¯® Põºø£k Cμ\õ¯Ú P»øÁ°À RÌPsh G¢u P»¨¦ 
Gøh°À ÷\º©[PÒ C¸US®? 

(A) Calcium carbide – 75 g Calcium 25 g 

 PõÀ]¯® Põºø£k & 75 Q PõÀ]¯® 25 Q  

(B) Calcium carbide – 66 g Calcium 33 g 

 PõÀ]¯® Põºø£k & 66 Q PõÀ]¯® 33 Q   

(C) Calcium carbide – 62.5 g Calcium 37.5 g 

 PõÀ]¯® Põºø£k & 62.5 Q PõÀ]¯® 37.5 Q  

(D) Calcium carbide – 50 g Calcium 50 g 
 PõÀ]¯® Põºø£k & 50 Q PõÀ]¯® 50 Q 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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13. Gas welding plant do not uses 
Gas welding plant &À £¯ß£kzu ThõuøÁ 

(A) Hose pipes and tubes 
 ÷íõì ø£¨ ©ØÖ® i²¨ì  

(B) Gloves and apron 

 øP²øÓ ©ØÖ® ÷©»[Q   

(C) Cap with sleeves 
 ÷P¨ ©ØÖ® ]½Æ  

(D) Lubricants (Oil or grease) 
 SÎ¹miPÒ (Gsön´ AÀ»x QŸì) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

14. Why used carbon steel wire brush? 
Carbon steel Á¯º ¤μè £¯ß GßÚ? 

(A) Good quality 
 |À» uμ©õÚx  

(B) Cleaning the work surface from rust oxide and other dirt prior 
to welding 

 öÁÀi[ ö\´ÁuØS •ß£õP £o ö£õ¸Îß £μ¨ø£ x¸, BUø\k 
©ØÖ® AÊUSPÎ¼¸¢x _zu® ö\´¯   

(C) Easy to handle 
 øP¯õÐÁx GÎx  

(D) Chipping work done 
 ö\xUSuÀ ÷Áø»US £¯ß£kQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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15. Oxy-acetylene gas flame temperature is 
BU] A]mi¼ß w¨¤Ç®¤ß öÁ¨£{ø» GÆÁÍÄ? 

(A) 1100°C to 1200°C (B) 3100°C to 3300°C 

(C) 300°C to 1500°C (D) 1800°C to 2800°C 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

16. Carbon-di-oxide cylinder colour is 
Põº£ß øh BUøék E¸øÍ G¢u {ÓzvÀ C¸US®? 

(A) Black (B) Black (with white neck) 

 P¸¨¦  PÊzvÀ öÁÒøÍ EÒÍ P¸¨¦ 

(C) Blue (D) Grey 
 }»®  \õ®£À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

17. In Butt welding, joining two pieces electrode should be placed in
—————— degree. 
L£m öÁÀi[Qß÷£õx Cμsk xskPøÍ CønUP G»Um÷μõk G¢u 
÷PõnzvÀ øÁUP÷Ásk®? 

(A) 90° (B) 120° 

(C) 110° (D) 180° 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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18. The weld metal below the miter line is known as  
ø©mhº ÷PõmiØS R÷Ç EÒÍ öÁÀm E÷»õP® AøÇUP¨£kÁx 

(A) Straight bead (B) Convex bead 

 ÷|μõÚ £iÄ  SÂ¢u £iÄ 

(C) Concave bead (D) Miter bead 
 SÈ¯õÚ £iÄ  ø©mhº £iÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

19. Hand gloves made by 
øP²øÓ (íõsm QÍÆ) GuÚõÀ u¯õ›UP¨£kQÓx? 

(A) Plastic (B) Leather 

 ¤ÍõìiU  ÷uõÀ 

(C) Cloth (D) Rubber 
 xo  μ¨£º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

20. Overhead welding positions with respect to their slope not exceeding
45° and rotation angle 
uø»US ÷©À {ø»°À öÁÀi[ ö\´²®÷£õx Auß \õ´Ä 45° ©ØÖ® 

_ÇØ] ÷Põn® ___________ ªPõ©À C¸UP÷Ásk®.  

(A) 60° (B) 120° 

(C) 90° (D) 45° 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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21. Which is used to remove drills and sockets from the machine
spindle? 
i›À¼[ C¯¢vμ ì¤si¼¸¢x i›À ©ØÖ® \õUöPmøh öÁÎ÷¯ØÓ Gx 
£¯ß£kQÓx? 

(A) Drift (B) Sleeve 

 i›¨m  ]½Æ 

(C) Punch (D) Hammer 
 £ga  ÷í©º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

22. Which part of the Vernier Bevel protractor contact with the inclined
surface while measuring? 
\›ÁõÚ ÷©Ø£μ¨ø£ AÍÃk ö\´²®÷£õx öÁºÛ¯º ö£ÁÀ ¨öμõmμUhº 
G¢u £õP® \›Ä £Svø¯ öuõkQÓx? 

(A) Dial (B) Disc 

 øh¯À  iìU 

(C) Blade (D) Stock 
 ¤÷Ík  ìhõU 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

23. Which part is the measuring face fitted to the frame of outside
micrometer? 
AÄm ø\k ø©U÷μõ«mhº L¤÷μªÀ ö£õ¸zu¨£mh AÍUPUTi¯ •P¨¦ 
£õPzvß ö£¯º GßÚ? 

(A) Anvil (B) Barrel 

 BßÂÀ  ÷£μÀ 

(C) Spindle (D) Ratchet stop 
 ì¤siÀ  ÷μa\m ìhõ¨ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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24. The minimum measurement that can be correctly read with a
Vernier Caliper is called 
öÁºÛ¯º Põ¼£º EuÂ¯õÀ AÍ¢x PnUQh •i²©õÚ SøÓ¢u£m\ AÍÄ 

AøÇUP¨£kÁx ___________. 

(A) Zero reading 
 ã÷μõ Ÿi[  

(B) Least count 

 ½ìm PÄsm   

(C) Main scale reading 
 ö©°ß ì÷PÀ Ÿi[  

(D) Actual reading minus zero reading 
 BU_ÁÀ Ÿi[ ø©Úì ã÷μõ Ÿi[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

25. A micrometer has a positive error of 0.02 mm. What is the correct
reading when the micrometer measures 25.41 MM? 
0.02 mm £õ]mjÆ ¤øÇ öPõsh J¸ ø©U÷μõ«mhøμU öPõsk 

ö£õ¸øÍ AÍUS® ö£õÊx 25.41 MM AÍÄ C¸US©õ°ß Cuß 
\›¯õÚ/Esø©¯õÚ AÍÃk GßÚ? 

(A) 25.39 MM (B) 25.37 MM 

(C) 25.43 MM (D) 25.45 MM 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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26. The value of each main scale division of Vernier Bevel protractor is 
öÁºÛ¯º ö£ÁÀ ¨öμõmμUhº JÆöÁõ¸ ö©°ß ì÷PÀ ¤›Âß 
©v¨£õÚx 

(A) 1° (B) 5' 

(C) 1° – 55' (D) 5'' 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

27. What is the main component that removes unwanted material in
grinding machine? 
J¸ Qøμsi[ C¯¢vμzvÀ ÷uøÁ¯ØÓ xPÒPøÍ APØÖ® •UQ¯ TÖ 
Gx? 

(A) Bench (B) The grinding wheel 

 ö£ßa   Qøμsi[ \UPμ[PÒ 

(C) The motor (D) The chuck 
 ÷©õmhõº  \U 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

28. Name the Chisel used for cutting curved grooves (Oil grooves). 
B°À S¸Æ ÷£õßÓ ÁøÍ¢u S¸ÆPøÍ ö\xUP £¯ß£k® öÁmkÎ°ß 
ö£¯º GßÚ? 

(A) Half round nose chisel (B) Flat chisel 

 Aøμ Ámh öÁmkÎ  £møh öÁmkÎ 

(C) Cross cut chisel (D) Cape chisel 
 SÖUS öÁmkÎ  öuõ¨¤ öÁmkÎ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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29. In diagonal filing methods the strokes are made at an angle of  
‰ø» £UP©õP CμõÄuÀ •øÓ°À öPõkUP¨£k® Ãa]ß ÷Põn® 

(A) 45 degree (B) 60 degree 

 45 iQ›  60 iQ› 

(C) 30 degree (D) 90 degree 
 30 iQ›  90 iQ› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

30. The pitch selection for hack sawing in angle iron, brass tubing 
copper, iron pipe etc is 
B[QÒ A¯ºß, ¤zuøÍ SÇõ´, ö\®¦, C¸®¦ SÇõ´ CÁØøÓ AÖUP 
÷uº¢öukUP¨£k® ¤a AÍÄ 

(A) 1.8 mm (B) 1.0 mm 

 1.8 ª.«.  1.0 ª.«. 

(C) 1.4 mm (D) 0.8 mm 
 1.4 ª.«.  0.8 ª.«. 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

31. The pitch selection for hack sawing in soft material such as bronze, 
brass, soft steel, cast iron, heavy angle etc 
ö©ß E÷»õP[PÍõÚ öÁsP»®, ö©ß GLS, Áõº¨¦ C¸®¦, ¤zuøÍ 
PÚ©õÚ B[QÀPÒ CøÁPøÍ AÖUP ÷uº¢öukUP¨£k® ¤a AÍÄ 

(A) 1.8 mm (B) 1.0 mm 

 1.8 ª.«.  1.0 ª.«. 

(C) 1.4 mm (D) 0.8 mm 
 1.4 ª.«.  0.8 ª.«. 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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32. Calculate the Tap Drill size by thumb rule for M10 × 1.25 
u® ¹¼ß£i M10 × 1.25 ©øμ°h xøÍ°ß AÍøÁ PnUQk 

(A) 8.8 mm (B) 8.7 mm 

(C) 8.75 mm (D) 8.65 mm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

33. Which type of drilling machine, the spindle head is moved towards
or away from the column? 
G¢u ÁøP¯õÚ xøÍ°k® C¯¢vμzvÀ ì¤siÀ ím Auß yo¼¸¢x 
•ß÷ÚõUQ |P¸QÓx? 

(A) Pillar drilling machine 
 ¤À»º xøÍ°k® C¯¢vμ®  

(B) Gang drilling machine 

 ÷P[ xøÍ°k® C¯¢vμ®   

(C) Radial drilling machine 
 ÷μi¯À xøÍ°k® C¯¢vμ®  

(D) Sensitive bench drilling machine 
 ö\ß]miÆ ö£ßa xøÍ°k® C¯¢vμ®  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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34. What is the material used to manufacture engineering steel rule? 
ìjÀ ¹À G¢u E÷»õPzuõÀ ö\´¯¨£mhx? 

(A) Brass (B) Aluminium 

 ¤zuøÍ  A¾ªÛ¯® 

(C) Stainless steel (D) Plastic 
 ìöh°ßö»ì ìjÀ  ¤ÍõìiU 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

35. What is a primary advantage of using a short steel rule in
measurement? 
]Ô¯ ÁøP ìjÀ ¹¼ß •UQ¯ |ßø© GßÚ? 

(A) It allows for precise measurements over long distance 
 Cx }sh yμ[PÎÀ xÀ¼¯©õÚ AÍÃkPøÍ AÝ©vUQÓx  

(B) It is easy to carry and handle small-scale measurement 

 ]Ô¯ AÍÂ»õÚ AÍÃkPÐUS Gkzxa ö\À»Ä® øP¯õÍÄ® 
GÎuõÚx   

(C) It can measure large volumes of materials 
 Cx ö£›¯ AÍÂ»õÚ AÍÃkPøÍ AÍÂh •i²®  

(D) It has a built-in digital display for accuracy 
 Cx xÀ¼¯zvØS Em£mh iâmhÀ vøμ Eøh¯x 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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36. What length of an engineering steel rule is often used for large scale
measurement? 
ö£›¯ AÍÃkPÐUS¨ £¯ß£kzu¨£k® GßâÛ¯›[ ìjÀ ¹À&ß }Í® 
GzuøÚ? 

(A) 200 mm (B) 300 mm 

 200 ªÀ¼«mhº  300 ªÀ¼«mhº 

(C) 400 mm (D) 600 mm 
 400 ªÀ¼«mhº  600 ªÀ¼«mhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

37. If steel rule is scratched, what effect does it have on measurement
accuracy? 
ìjÀ ¹¼À RμÀPÒ ÂÊ¢uõÀ Auß AÍÃmiÀ GßÚ ÂøÍÄ HØ£k®? 

(A) It has no effect 
 G¢u ÂøÍÄ® CÀø»  

(B) It improve measurement accuracy 

 AÍÃk ÷©ßø©¯õP C¸US®   

(C) It may cause inaccuracies 
 uÁÖPøÍ HØ£kzx®  

(D) It make the rule more flexible 
 AvP£i¯õÚ ö|QÌÄ ußø©²hß C¸US® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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38. Which type of steel rule is commonly used for precise measurement
in Engineering? 
CßâÛ¯›[QÀ xÀ¼¯©õÚ AÍÃkPÐUS ö£õxÁõP G¢u ÁøP ìjÀ 
¹À £¯ß£kzu¨£kQÓx? 

(A) Flexible steel rules 
 ö|QÌÁõÚ ìjÀ ¹À  

(B) Standard steel rules 

 {ø»¯õÚ ìjÀ ¹À   

(C) Carpenter rule 
 ua\º ìjÀ ¹À  

(D) Short steel rule 
 SÖQ¯ ìjÀ ¹À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

39. If a length measured as 2 metres. What is the length in centimeter?
2 «mhº }ÍzvÀ GzuøÚ ö\ßi«mhºPÒ EÒÍx? 

(A) 20 cm (B) 200 cm 

 20 ö\.«.  200 ö\.«. 

(C) 2000 cm (D) 0.2 cm 
 2000 ö\.«.  0.2 ö\.«. 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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40. Convert 10 inches to centimeter 
10 A[S»zøu ö\ßi«mh›À ©õØÓÄ® 

(A) 15.24 cm (B) 20 cm 

 15.24 ö\.«.  20 ö\.«. 

(C) 25.4 cm (D) 30 cm 
 25.4 ö\.«.  30 ö\.«. 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

41. The type of steel which contain just 0.8% carbon is called  
0.8% ©mk® Põº£ß öPõskÒÍ GLS ÁøP ___________ GÚ¨£k®. 

(A) Eutectoid steel (B) Hypereutectoid steel 

 ²öhUhõ´k GLS  øí£º²öhUhõ´k GLS 

(C) Hypoeutectoid steel (D) Low carbon steel 
 øí÷£õ²öhUhõ´k GLS  ÷»õ Põº£ß GLS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

42. During heat treatment process carbon is dissolved to form solid
solutions, it is known as  
öÁ¨££uÛku¼ß ÷£õx Põº£ß Pøμ¢x vh Pøμ\»õP E¸ÁõSÁx 

___________ GÚU SÔ¨¤h¨£kQÓx. 

(A) Ferrite (B) Pearlite 

 Lö£ºøμm  ¤¯ºø»m 

(C) Austenite (D) Cementite 
 BìhøÚm  ]ö©ßøhm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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43. What is the temperature to be maintained in sherardising to heat
zinc powder? 
öåμøh][ •øÓ°À xzu|õP yøÍ öÁ¨£¨£kzu £μõ©›UP¨£k® 
öÁ¨£{ø» GßÚ? 

(A) 300°C (B) 305°C 

(C) 370°C (D) 490°C 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

44. What is the temperature of enamelling process? 
GÚõ©¼[ §a_ •øÓ°À Pøh¤iUP¨£k® öÁ¨£{ø» GßÚ? 

(A) 80°C to 100°C (B) 100°C to 200°C 

 80°C •uÀ 100°C  100°C •uÀ 200°C 

(C) 200°C to 300°C (D) 300°C to 400°C 
 200°C •uÀ 300°C  300°C •uÀ 400°C 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

45. Which one of the following metal is suitable for cable sheathing? 
¤ßÁ¸ÁÚÁØÔÀ G¢u E÷»õP® ÷P¤Ò EøÓUS HØÓx? 

(A) Zinc (B) Lead 

 xzu|õP®  PõŸ¯® 

(C) Nickel (D) Aluminium 
 {UPÀ  A¾ªÛ¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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46. Which one is suitable metal for anodizing? 
A÷Úõøh][ ö\´ÁuØS HØÓ E÷»õP® Gx? 

(A) Aluminium (B) Copper 

 A¾ªÛ¯®  ö\®¦ 

(C) Nickel (D) Steel 
 {UPÀ  GLS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

47. The percentage of chromium in stainless steel 
x¸ ¤iUPõu GLUQÀ EÒÍh[Q EÒÍ S÷μõª¯zvß \uÃu® 

(A) 5% to 10% of chromium 

 5% •uÀ 10% S÷μõª¯® 

(B) 15% to 20% of chromium 

 15% •uÀ 20% S÷μõª¯®   

(C) Upto 10% of chromium 

 10% Áøμ S÷μõª¯®  

(D) 10.5% to 18% of chromium 
 10.5% •uÀ 18% S÷μõª¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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48. While normalizing the steel should be cooled 
ìjÀ&I ußÛø»¨£kzxÁuØS ___________À SÎ¹mh¨£h ÷Ásk®. 

(A) In room temperature (B) In oil 

 AøÓ öÁ¨£{ø» PõØÖ  Gsön´ 

(C) By force air (D) In water 
 Âø\²hß Ti¯ PõØÖ  uspº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

49. The external surface of the parts made of mild steel can be hardened
by 
ø©Àk ìjÀ&BÀ E¸ÁõUP¨£mh £õPzvß ¦Ó¨£μ¨¦ ___________ •øÓ 
‰»® PiÚ©õUP¨£kQÓx. 

(A) Tempering (B) Normalising 

 £u¨£kzxuÀ  ußÛø»¨£kzxuÀ 

(C) Case hardening (D) Hardening 
 ¦ÓU PiÚ©õUPÀ  PiÚ©õUPÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

50. In Nitriding process the NH3 gas is introduced at 
ø|møμi[ ö\¯À•øÓ°À A®÷©õÛ¯õ Áõ² ___________
öÁ¨£{ø»°À ö\¾zu¨£kQÓx. 

(A) 500°C to 550°C (B) 575°C to 600°C 

(C) 600°C to 650°C (D) 650°C to 700°C 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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51. Case hardening is a method of producing hard skin on the surface of 
¦ÓPiÚ©õUPÀ Gß£x ___________ ÷©Ø£μ¨¤À PiÚzxÁzøu 
E¸ÁõUS® •øÓ¯õS®. 

(A) High carbon steel parts 
 ªøP Põº£ß ìjÀ £õP[PÒ  

(B) Low carbon steel parts 

 SøÓ Põº£ß ìjÀ £õP[PÒ   

(C) Alloy steel parts 
 P»¨¦ E÷»õP GLS £õP[PÒ  

(D) Cast iron heavy parts 
 Áõº¨¦ C¸®¦ PÚμP £õP[PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

52. In pack carburising method —————— is added to speed up the 
process. 
Aøh¨¦ Põº£÷ÚØÓ •øÓ°À ___________ ÷Áø»ø¯ x›u£kzxÁuØPõP 
÷\ºUP¨£kQÓx. 

(A) Barium carbonate (B) Sodium chloride 

 ÷£›¯® Põº£÷Úm  ÷\õi¯® S÷Íõøμk 

(C) Barium chloride (D) Sodium carbonate 
 ÷£›¯® S÷Íõøμk  ÷\õi¯® Põº£÷Úm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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53. Bronze is an alloy of 
öÁsP»zvß E÷»õPU P»øÁ 

(A) Copper and lead 
 uõªμ® ©ØÖ® PõŸ¯®  

(B) Copper and zinc 

 uõªμ® ©ØÖ® xzu|õP®   

(C) Copper and tin 
 uõªμ® ©ØÖ® öÁÒÏ¯®  

(D) Copper and aluminium 
 uõªμ® ©ØÖ® A¾ªÛ¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

54. Which of the following metal acts as a nuclear radiation inhibitor? 
¤ßÁ¸® G¢u E÷»õP® AqUPvº Ãa_ uk¨£õÚõP ö\¯À£kQÓx? 

(A) Brass (B) Zinc 

 ¤zuøÍ  xzu|õP® 

(C) Bronze (D) Lead 
 öÁsP»®  PõŸ¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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55. Which of the following statement is true? 
¤ßÁ¸® TØÖPÎÀ Gx Esø©? 

(i) Melting point of copper is 1844°F 

 uõªμzvß E¸S{ø» 1844°F 

(ii) Melting point of cast iron is 2282°F 

 Áõº¨¦ C¸®¤ß E¸S{ø» 2282°F 

(iii) Melting point of steel is 2200°F 

 GLQß E¸S{ø» 2200°F 

(A) (i) only (B) (i) and (iii) only 

 (i) ©mk®  (i) ©ØÖ® (iii) ©mk® 

(C) (i) and (ii) only (D) (ii) and (iii) only 
 (i) ©ØÖ® (ii) ©mk®  (ii) ©ØÖ® (iii) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

56. What is the metal production in Salem steel plant? 
÷\»® C¸®¦ GLS Bø»°À u¯õ›UP¨£k® E÷»õP® Gx? 

(A) Aluminium (B) Copper 

 A¾ªÛ¯®  uõªμ® 

(C) Wrought iron (D) Stainless steel 
 ÷uÛ¸®¦  x¸¤iUPõu GLS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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57. Which metal is resistant to many types of acids? 
£» ÁøP¯õÚ Aª»[PøÍ GvºUS® E÷»õP® Gx? 

(A) Tin (B) Nickel 

 öÁÒÏ¯®  {UPÀ 

(C) Lead (D) Chromium 
 PõŸ¯®  S÷μõª¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

58. What is the name of furnace to obtain cast iron? 
Áõº¨¦ C¸®ø£ u¯õ›UP £¯ß£kzu¨£k® Eø»°ß ö£¯º GßÚ? 

(A) Cupola furnace (B) Blast furnace 

 S¨÷£õ»õ Eø»  Fx Eø» 

(C) Electric furnace (D) Pudling furnace 
 ªß\õμ Eø»  SøÇ¨¦ Eø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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59. Match the steel plant in India with respective states : 
C¢v¯õÂÀ EÒÍ GLS E¸US Bø»PøÍ²® AøÁ Aø©¢xÒÍ
©õ{»[PøÍ²® ö£õ¸zxP : 
(a) Tata iron and steel 1. Chhattisgarh 
 hõhõ C¸®¦ GLS Bø»  \zwìPº 
(b) Bhilai steel plant 2. Odisha 
 ¤»õ´ GLS Bø»  Ji\õ 
(c) Durgapur steel plant 3. Tamilnadu 
 xºPõ§º GLS Bø»  uªÌ|õk 
(d) Rourkela steel plant 4. Bihar 
 ¹º÷P»õ GLS Bø»  ¥íõº 

(e) Salem steel plant 5. West Bengal 
 ÷\»® GLS Bø»  ÷©ØS Á[PõÍ® 

 (a) (b) (c) (d)    (e) 
(A) 2 5 4 1     3 
(B) 4 1 5 2     3     
(C) 4 1 2 5     3    
(D) 1 4 2 5     3    
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

60. Which of the following ore contains 32% of copper? 
RÌPsh G¢u uõxÂÀ 32% \uÃu uõªμ® QøhUQÓx?  

(A) Pyrites (B) Malachite 

 ø£øμmì  ©õ»ø\m 

(C) Calamine (D) Galena 
 Põ»ø©ß  P½Úõ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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61. What is the size of pipes normally used in sheet metal? 
E÷»õPz uPk ÷Áø»°À ÁÇUP©õP £¯ß£k® SÇõ´PÎß AÍÄ GßÚ? 

(A) 
″

8
3

 – 1''  (B) 
″

8
3

– 
″

8
1

1  

(C) 
″

8
3

 – 
″

4
1

1  (D) 
″

8
3

– 
″

8
3

1  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

62. A piece of material is cut to the exact size and shape to form desired
object is called as 
÷uøÁ¯õÚ ö£õ¸øÍ \›¯õÚ AÍÄ ©ØÖ® ÁiÁzvØS öÁmh £¯ß£k® 
xsk ö£õ¸Ò CÆÂu® AøÇUP¨£kQÓx 

(A) Pattern (B) Layout 

 ©õv› •øÓ/ÁiÂ  vmh Aø©¨¦ 

(C) Template (D) Stretch out 
 ©õv› E¸Á®  ìmöμa AÄm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

63. In which type of hacksaw blade teeth only made hardened? 
G¢u ÁøP ÷íU\õ ¤÷Íi&À AuÝøh¯ £ØPÒ ©mk® 
PiÚ©õUP¨£kQßÓÚ? 

(A) All hard blade (B) Flexible blade 

 BÀ íõºk ¤÷Ík  ¤ÍUê¦Ò ¤÷Ík 

(C) Adjustable blade (D) Coarse pitch blade 
 Aäáìh¦Ò ¤÷Ík  ÷Põºì ¤ma ¤÷Ík 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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64. The least count of vernier caliper is equal to  
öÁºÛ¯º Põ¼£›ß ½ìm PÄsiØS \©©õÚx  

(A) Value of 1 M.S.D – Value of 1 V.S.D 

 1 ö©°ß ì÷PÀ iÂåß ©v¨¦ – 1 öÁºÛ¯º ì÷PÀ iÂåß ©v¨¦ 

(B) Value of 1 V.S.D – Value of 1 M.S.D 

 1 öÁºÛ¯º ì÷PÀ iÂåß ©v¨¦ – 1 ö©°ß ì÷PÀ iÂåß ©v¨¦ 

(C) Value of 2 M.S.D – Value of 1 V.S.D 

 2 ö©°ß ì÷PÀ iÂåß ©v¨¦ – 1 öÁºÛ¯º ì÷PÀ iÂåß ©v¨¦ 

(D) Value of 1 M.S.D + Value of 1 V.S.D 
 1 ö©°ß ì÷PÀ iÂåß ©v¨¦ + 1 öÁºÛ¯º ì÷PÀ iÂåß ©v¨¦

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

65. Large circles drawn by 
¤ßÁ¸® G¢u ¹À BÚx ö£›¯ Ámh[PÒ Áøμ¯ £¯ß£kQÓx? 

(A) Scriber (B) Divider 

 ìUøμ£º  iøÁhº 

(C) Trammel (D) Wing compass 
 i÷μ®¤Ò  Â[ Põ®£ì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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66. Which metal is not mixed in soft solder? 
Soft Solder &À ¤ßÁ¸® G¢u E÷»õP® P»¢x C¸UPõx? 

(A) Tin (B) Lead 

 iß  ö»m 

(C) Copper (D) Silver 
 Põ¨£º  ]ÀÁº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

67. What is the fine pitch size of hacksaw blade? 
BU\õ ¤÷Íiß Lø£ß ¤ma AÍÄ 

(A) 0.5 mm (B) 0.6 mm 

(C) 0.7 mm (D) 0.8 mm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

68. What is solder? 
\õÀhº GßÓõÀ GßÚ? 

(A) Cleaning agent (B) Lubricant 

 QÎÛ[ Höáßm  ¿¨›÷Pßm 

(C) Melting agent (D) Filler material 
 ö©Ài[ Höáßm  L¤À»º ö©mj›¯À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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69. Which material is used for making mallets? 
©μ_zv¯À G¢u ö©mj›¯»õÀ ö\´¯¨£k®? 

(A) Brass (B) Copper 

 ¤zuøÍ  ö\®¦ 

(C) Hard wood (D) Aluminium 
 PiÚ Pmøh  A¾ªÛ¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

70. Bend snip is related to  
ö£ßm ìÛ¨ì GuÝhß öuõhº¦øh¯x? 

(A) Groove cut (B) Zigzag cut 

 U¹Æ Pm  âU áõU Pm 

(C) Straight cut (D) Circular cut 
 ìmøμm Pm  \ºUS»º Pm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

71. Name the tool used to make fluid tight joint in riveting. 
vμÁ P]øÁ ukUP¨ £¯ß£kzuU Ti¯ ›Ámi[ P¸Â°ß ö£¯º GßÚ? 

(A) Drift (B) Rivet snap 

 m›¨m  ›Ám ìÚõ¨ 

(C) Fullering tool (D) Dolly 
 ¦À»›[ lÀ  hõ¼ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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72. Which notch is cut at an angle of 45° to the corner of the sheet 
metal? 
E÷»õPz uPmiÀ ‰ø»°À 45° ÷PõnzvÀ öÁmhUTi¯ Põi GøÁ? 

(A) Wire notch (B) Slant notch 

 Á¯º |õma  ì»õsm |õma 

(C) Square notch (D) Straight notch 
 ìöPõ¯º |õma  ìiøμm |õma 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

73. What is the seam used in sheet metal joint for roofing and
panelling? 
E÷»õPz uPmiøÚU öPõsk Tøμ ©ØÖ® umiøn¨¦ ÷Áø»°À 
£¯ß£kzu¨£k® ^® ÁøP GßÚ?  

(A) Lap seam (B) Double seam 

 ÷»¨ ^®  h¦Ò ^® 

(C) Grooved seam (D) Double grooved seam 
 S¸Æk ^®  h¦À S¸Æk ^® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

74. Which hammer is suitable for riveting? 
›Ámi[ ö\´¯ G¢u ÁøP _zv¯À £¯ß£kQÓx? 

(A) Plastic hammer (B) Ball pein hammer 

 ¤ÍõìiU _zv¯À  £õÀ ¥ß _zv¯À 

(C) Cross pein hammer (D) Straight pein hammer 
 Qμõì ¥ß _zv¯À  ìmöμ°m ¥ß _zv¯À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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75. Which flux used for soldering steel? 
GLQøÚ \õÀh›[ ö\´²® ö£õÊx G¢u CÍUQ (flux)
£¯ß£kzu¨£kQÓx? 

(A) Paste (B) Resin 

 ÷£ìm  öμ]ß 

(C) Zinc chloride (D) Ammonium chloride 
 ][U S÷Íõøμk  A®÷©õÛ¯® S÷Íõøμk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

76. Which gauge is used to check thickness of the thin sheet metal? 
ö©À¼¯ E÷»õPz uPmiß ui©øÚ ÷\õvUP G¢u ÷Pä 
£¯ß£kzu¨£kQÓx? 

(A) Steel rule (B) Standard wire gauge 

 GLS AÍÄ ÷PõÀ  ì÷hßhºk Á¯º ÷Pä 

(C) Caliper (D) Ring gauge 
 Põ¼¨£º  ›[ ÷Pä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

77. Which one of the following stakes is used when shaping, seaming
funnels and tapered articles? 
L¦ÚÀ ©ØÖ® Cx ÷£õßÓ ÷h¨£μõÚ ÁiÁ¨ ö£õ¸mPøÍ E¸ÁõUPÄ®, 
^ª[ ö\´¯Ä® £¯ß£k® ì÷hU GxÁõS®? 

(A) Hatchet stake (B) Half-moon stake 

 íõmö\m ì÷hU  íõÀL¨ ‰ß ì÷hU 

(C) Funnel stake (D) Creasing stake 
 L¦ÚÀ ì÷hU  QŸê[ ì÷hU 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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78. “Caulking” and “Fullering” are the operations done to make riveted
joints as  
›Ámi[ áõ°skPÎÀ ‘‘PõÀUQ[’’ ©ØÖ® “L¦ÒÍ›[” ö\¯À 
ö\´¯¨£kÁx CuØPõP 

(A) Flexible (B) Strong 

 ¤ÍUê¤Ò  ìiμõ[ 

(C) Rust-proof (D) Leak-proof 
 μìm&¨¹LÆ  ½U&¨¹LÆ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

79. The melting point of resin flux is 
CÍUQ¯õÚ öμêÛß E¸S{ø» ÷uõμõ¯©õP  

(A) 20°C to 30°C (B) 30°C to 40°C 

(C) 50°C to 70°C (D) 80°C to 100°C 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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80. Why allowance is required while making various types of hems and
seams? 
E÷»õPz uPkPÎß ÂÎ®¦PÎÀ öÁÆ÷ÁÖ ÁøP¯õÚ ©i¨¦, ©ØÖ® 
Cøn¨¦PøÍ E¸ÁõUP A»Áßì öPõk¨£x Hß? 

(A) To make good appearance 
 |À» ÷uõØÓzøu E¸ÁõUP  

(B) To prevent damage to the edges 

 ÂÎ®¦PÒ ÷\u©øhÁøu ukUP   

(C) To prevent over lapping at the seam 
 ©izu¼À AvP¨£i¯õÚ ÷©Ø£iuø» uÂºUP  

(D) Maintain correct size and improve the strength 
 \›¯õÚ AÍÄ ©ØÖ® Á¼ø©ø¯ AvP¨£kzu 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

81. How to specify the fundamental deviation for a hole according to BIS
system? 
BIS •øÓ¨£i, xøÍ°ß Ai¨£øh AÍÄ «Óø» GÆÁõÖ 
SÔ¨¤kQ÷Óõ®? 

(A) Small letter followed by a number 
 ]Ô¯ GÊzøu öuõh¸® Gs  

(B) Capital letter followed by a number 

 ö£›¯ GÊzøu öuõh¸® Gs   

(C) English capital letters 
 B[Q» ö£›¯ GÊzvÀ  

(D) English small letters 
 B[Q» ]Ô¯ GÊzvÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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82. As per BIS standard how to denote the upper deviation of a ‘hole’? 
BIS uμ {ºn¯¨£i, J¸ xøÍ°ß ÷©À AÍÄ «Óø» GÆÁõÖ SÔUP 
÷Ásk®? 

(A) EI (B) es 

(C) ei (D) ES 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

83. The size on which the dimensionals deviations are given is known as
AÍÄ «ÓÀ G¢u AÍÂß «x öPõkUP¨£kQÓ÷uõ Ax ___________ GÚ 
AÔ¯¨£kQÓx. 

(A) Actual size (B) Higher size 

 Esø©¯õÚ AÍÄ  E¯º AÍÄ 

(C) Basic size (D) Lower size 
 Ai¨£øh AÍÄ  SøÓ¢u£m\ AÍÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

84. Which one of the following dimension is out of tolerance for the size

is 015.0
007.0

27−
+

 ? 

RÌPsh AÍÄPÎÀ Gx tolerance Áμ®¤ØSÒ CÀø»? 015.0
007.0

27−
+

 

(A) 27.005 (B) 26.986 

(C) 26.995 (D) 26.983 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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85. Which formula is used to calculate maximum interference? 
AvP£m\ uøh PnURk ö\´¯ £¯ß£k® `zvμ® GßÚ? 

(A) Minimum size of shaft – Minimum size of hole 

 usiß SøÓ¢u£m\ AÍÄ – xøÍ°ß SøÓ¢u£m\ AÍÄ 

(B) Maximum size of shaft – Maximum size of hole 

 usiß AvP£m\ AÍÄ – xøÍ°ß AvP£m\ AÍÄ   

(C) Minimum size of hole – Maximum size of shaft 

 xøÍ°ß SøÓ¢u£m\ AÍÄ – usiß AvP£m\ AÍÄ  

(D) Maximum size of hole – Minimum size of shaft 
 xøÍ°ß AvP£m\ AÍÄ – usiß SøÓ¢u£m\ AÍÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

86. The tolerance sizes of hole is 75.000 and 75.046 mm, and shaft is 
75.018 and 74.988 mm in an assembly the type of Fit is 
J¸ Aö\®¨Î°À xøÍ°ß hõ»μßì Áμ®¦ AÍÄ 75.000 ©ØÖ® 75.046 
ª«, usiß hõ»μßì Áμ®¦ AÍÄ 75.018 ©ØÖ® 74.988 ª« GÛÀ Ax 
G¢u ÁøP ö£õ¸zu©õP Aø©²®? 

(A) Clearance Fit (B) Transition Fit 

 CøhöÁÎ ö£õ¸zu®  ©õÖ ö£õ¸zu® 

(C) Interference Fit (D) Shrink Fit 
 uøh ö£õ¸zu®  _¸[S ö£õ¸zu® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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87. What is the expression of 6/730 gH ? 
6/730 gH  Gß£x öÁÎ¨£kzxÁx GßÚ? 

(A) Fit (B) Limit 

 ö£õ¸zu®  Áμ®¦ 

(C) Deviation (D) Tolerance 
 AÍÄ«ÓÀ  hõ»μßì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

88. What denotes the number “6” in 6/725 gH  ? 

6/725 gH  À Gs “6” Gøu SÔUQÓx? 

(A) Fundamental tolerance of a hole 
 xøÍ°ß Ai¨£øh HØ¦¤øÇ  

(B) Fundamental deviation of a hole 

 xøÍ°ß Ai¨£øh AÍÄ«ÓÀ   

(C) Fundamental tolerance of a shaft 
 usiß Ai¨£øh HØ¦¤øÇ  

(D) Fundamental deviation of a shaft 
 usiß Ai¨£øh AÍÄ«ÓÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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89. Which ‘Grade of Tolerance’ is applied for fitting process according to
Indian standard system? 
C¢v¯ uμ{ø»¨£i Fitting ö\¯À•øÓUS G¢u ‘Grade of Tolerance’ 
£¯ß£kzu¨£kQÓx? 

(A) IT 4 (B) IT 3 

(C) IT 10 (D) IT 2 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

90. The difference between the maximum limit of size and the minimum 
limit of the size is called 
AvP£m\ Áμ®¦ AÍÄUS® SøÓ¢u£m\ Áμ®¦ AÍÄUS® Cøh°»õÚ 

÷ÁÖ£õk ___________ GÚ AøÇUP¨£kQÓx. 

(A) Upper deviation (B) Lower deviation 

 ÷©À AÍÄ «ÓÀ  RÌ AÍÄ «ÓÀ 

(C) Tolerance (D) Actual size 
 hõ»μßì  Esø©¯õÚ AÍÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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91. Which standard stipulated the system of limits and fits in India? 
C¢v¯õÂÀ Áμ®¦PÒ ©ØÖ® ö£õ¸zu[PÎß Aø©¨ø£ G¢u uμ{ø» 
{ÖÁÚ® {ºn°UQÓx? 

(A) Bureau of Indian standard 
 C¢v¯ uμ {ºn¯ £o¯P®  

(B) International standards organisation 

 \ºÁ÷u\ uμ Aø©¨¦   

(C) British standard system 
 ¤›miè uμ Aø©¨¦  

(D) German standard 
 öáº©ß uμ{ø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

92. What is called the algebraic difference between actual size and its 
corresponding basic size? 
Esø©¯õÚ AÍÂØS® AuÝhß öuõhº¦øh¯ Ai¨£øh AÍÂØS® 
Cøh°»õÚ C¯ØPou ÷ÁÖ£õk GßÚöÁßÖ AøÇUP¨£kQÓx? 

(A) Upper deviation (B) Lower deviation 

 ÷©À AÍÄ «ÓÀ  RÌ AÍÄ «ÓÀ 

(C) Actual deviation (D) Deviation 
 EÒÍ£i¯õÚ AÍÄ «ÓÀ  AÍÄ «ÓÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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93. 
What is the upper deviation, of size 007.0

028.0

20+
+

 ? 

007.0
028.0

20+
+

 GßÓ AÍÂÀ ÷©À AÍÄ «ÓÀ GÆÁÍÄ? 

(A) +0.028 mm (B) 20.028 mm 

 +0.028 ª«  20.028 ª« 

(C) 20.007 mm (D) +0.007 mm 

 20.007 ª«  +0.007 ª« 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

94. What is the main purpose of specifying tolerances in the design of
mating parts? 
£õP[PÎß ö£õ¸zuzøu ÁiÁø©¨£vÀ HØ¦¨¤øÇ SÔ¨¤h¨£kÁvß 
÷|õUP® GßÚ? 

(A) To determine the colour of the parts 
 £õP[PÎß {Ózøu wº©õÛUP  

(B) To ensure proper fit and function 

 \›¯õÚ ö£õ¸zu® ©ØÖ® ö\¯ÀvÓøÚ EÖvö\´¯   

(C) To increase the weight of the parts 
 £õP[PÎß Gøhø¯ AvP›UP  

(D) To change the material properties 
 ö£õ¸Îß £s¦PøÍ ©õØÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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95. How does non-selective assembly compare to selective assembly 
interms of cost? 
Âø»ø¯ øÁzx ÷uºÂ»õ J¸[Qøn¨ø£ ÷uºÄ J¸[Qøn¨¦hß 
J¨¤k 

(A) Both methods have identical costs 
 Cμsk •øÓPÐ® J÷μ ©õv›¯õÚ ö\»Ä Eøh¯x  

(B) Selective assembly is cheaper than non-selective assembly 

 ÷uºÄ J¸[Qøn¨¦, ÷uºÂ»õ J¸[Qøn¨ø£ Âh ©¼ÁõÚx  

(C) Non-selective assembly is more expensive than selective 
assembly 

 ÷uºÂ»õ J¸[Qøn¨¦, ÷uºÄ J¸[Qøn¨ø£ Âh AvP 
Âø»²øh¯x  

(D) Non selective assembly is generally less expensive than 
selective assembly 

 ÷uºÂ»õ J¸[Qøn¨¦, ÷uºÄ J¸[Qøn¨ø£ Âh Âø» 
SøÓÁõÚx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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96. How the ‘Bilateral tolerance’ is indicated? 
C¸ uμ¨¦ HØ¦ ¤øÇ GÆÁõÖ SÔ¨¤h¨£kQÓx? 

(A) On upper side of the basic size 
 Ai¨£øh AÍÂß ÷©À£UPzvÀ  

(B) On both side of the basic size 

 Ai¨£øh AÍÂß Cμsk £UP[PÎ¾®   

(C) On any one side of the basic size 
 Ai¨£øh AÍÂß HuõÁx J¸ £UPzvÀ  

(D) On lower side of the basic size 
 Ai¨£øh AÍÂß RÌ£UPzvÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

97. What does unilateral tolerance refers to? 
J¸ uμ¨¦ HØ¦¨¤øÇ Gøu SÔUQÓx? 

(A) Tolerance that allows deviations in only one direction from the 
nominal size 

 Ai¨£øh AÍÂ¼¸¢x HØ¦¤øÇ°ß AÍÄ«ÓÀ J÷μ £UPzvÀ 
C¸US®  

(B) Tolerance that permits deviations in both directions from the 
nominal size 

 Ai¨£øh AÍÂ¼¸¢x HØ¦¤øÇ°ß AÍÄ«ÓÀ Cμsk 
£UPzv¾® C¸US®   

(C) A tolerance applied only to length dimensions 
 }Í AÍÄPÐUS ©mk® HØ¦¤øÇ C¸US®  

(D) Tolerance that is uniform across all dimensions 
 AøÚzx AÍÄPÐUS® J÷μ ©õv›¯õÚ HØ¦ ¤øÇ C¸US® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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98. What is the formula to calculate the minimum clearance between
two mating parts? 
C¸ ö£õ¸zu¨£k® £õP[PÐUQøh°»õÚ SøÓ¢u£m\ CøhöÁÎø¯ 
PnUQkÁuØPõÚ `zvμ® GßÚ? 

(A) Maximum size of hole – Minimum size of shaft 

 xøÍ°ß AvP£m\ AÍÄ – usiß SøÓ¢u£m\ AÍÄ  

(B) Minimum size of hole – Maximum size of shaft 

 xøÍ°ß SøÓ¢u£m\ AÍÄ – usiß AvP£m\ AÍÄ   

(C) Maximum shaft size – Minimum hole size 

 usiß AvP£m\ AÍÄ – xøÍ°ß SøÓ¢u£m\ AÍÄ  

(D) Minimum shaft size – Maximum hole size 
 usiß SøÓ¢u£m\ AÍÄ – xøÍ°ß AvP£m\ AÍÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

99. What is the minimum interference fit between the hole and shaft 

Hole – 000.0
030.0

55+
+

 Shaft – 032.0
051.0

55+
+

 ? 
xøÍUS®, uskUS® Cøh÷¯ EÒÍ SøÓ¢u£m\ uøh GßÚ? 

xøÍ – 000.0
030.0

55+
+

 usk – 032.0
051.0

55+
+

 

(A) 0.051 mm (B) 0.032 mm 

 0.051 ª«  0.032 ª« 

(C) – 0.002 mm (D) + 0.002 mm 
 – 0.002 ª«  + 0.002 ª« 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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100. The number expressed a particular unit in the measurement of
length is  
}Í AÍÃmiÀ J¸ £Sv A»QÀ öÁÎ¨£kzu¨£k® Gs ___________
GÚ¨£k®. 

(A) Basic size  (B) Size 

 Ai¨£øh AÍÄ  AÍÄ 

(C) Limits (D) Zero line 
 Áμ®¦  §ä¯ ÷Põk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

101. —————— tool is used to cut the pipe made of copper and bronze.
uõªμ® ©ØÖ® öÁsP»® SÇõ´PøÍ AÖUP ___________ P¸Â 
£¯ß£kQÓx. 

(A) Pipe cutter 
 ø£¨ Pmhº  

(B) Multi-wheel chain pipe cutter 

 ©Ài&ÃÀ ö\°ß ø£¨ Pmhº   

(C) Pipe bending machine 
 ø£¨ ö£si[ ö©æß  

(D) Pipe wrench 
 ø£¨ ›ßa 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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102. —————— is the standard length of G.I. pipe available. 
â.I. (G.I.) ø£¨ QøhUP¨ ö£Ö® {ø»¯õÚ }Í® ___________. 

(A) 6 Feet (B) 100 cm 

 6 Ai  100 ö\.«. 

(C) 6 metre (D) 100 inch 
 6 «mhº  100 A[S»® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

103. One of the following seal is used between the flange joint of cold
water pipe line. 
RÌUPshÁØÔÀ G¢u J¸ ^À BÚx SÎº¢u }º ø£¨ ø»Ûß ¤Íõßg 
áõ°ßmUS Cøh÷¯ £¯ß£kQÓx. 

(A) Asbestos gasket 
 Aìö£ìhõì ÷PìPm  

(B) Rubber gasket 

 μ¨£º ÷PìPm   

(C) Metallic gasket 
 ö©mhõ¼U ÷PìPm  

(D) Graphite impregnated cloth 
 Qμõø£m ö\ÔÅmh¨£mh xo 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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104. Due to which of the following reasons, knob of tap rotates noisily 
while opening or closing 
¤ßÁ¸® ___________ PõμnzuõÀ ÷h¨ |õ¨&I vÓUP AÀ»x ‰kÁuØPõP 
_ÇØÖ® ÷£õx \¨u® HØ£kQÓx. 

(A) Worn out the threads of spindle 
 ì¤siÀ ©øμPÒ ÷u´Áøh¢v¸zuÀ  

(B) Defective washer 

 £Êuøh¢u Áõåº   

(C) Loosened spindle valve 
 ì¤siÀ ÁõÀÄ uÍºÁõP C¸zuÀ  

(D) Bent spindle 
 ì¤siÀ ÁøÍ¢v¸zuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

105. —————— is used to control the flow of water from the pipes to
open and close. 
SÇõ°¼¸¢x uspøμ ÷uøÁU÷PØ£ vÓ¨£uØS®, Aøh¨£uØS® 

___________ £¯ß£kQßÓÚ. 

(A) Screw down water tap (B) Gate valve 

 v¸S ÁøP Áõmhº ÷h¨  ÷Pm ÁõÀÄ 

(C) Stop cock (D) Plug cock 
 ìhõ¨ PõU  ¤ÍU PõU 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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106. —————— is the included angle of B.S.W. pipe thread. 
B.S.W. SÇõ´ ©øμ°ß Em÷Põn® ___________. 

(A) 29° (B) 55° 

(C) 60° (D) 27.5° 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

107. —————— is another name of adjustable pipe wrench. 
Amáìh¤Ò ø£¨ ›ßa&ß ©ØöÓõ¸ ö£¯º ___________. 

(A) Strap wrench (B) Stillson pipe wrench 

 ìmμõ¨ ›ßa  ìiÀ\ß ø£¨ ›ßa 

(C) Chain pipe wrench (D) Foot print wrench 
 ö\°ß ø£¨ ›ßa  ¦m ¤›sm ›ßa 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

108. —————— type of wrench is used to tight the pipe upto 50 mm
diameter. 
50 mm Áøμ Âmh® EÒÍ ø£¨PøÍ CÖUP® ö\´¯Ä®, ¤iUPÄ® 

___________ EuÄQÓx. 

(A) Strap wrench (B) Foot print wrench 

 £møh SÇõ´ •ÖUQ   PõÀ_Ák SÇõ´ •ÖUQ 

(C) Chain pipe wrench (D) Stillson pipe wrench 
 \[Q¼ SÇõ´ •ÖUQ  ìiÀ\ß SÇõ´ •ÖUQ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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109. —————— vice is used to hold larger diameter pipes upto
200 mm. 
200 mm Áøμ Âmh•øh¯ ö£›¯ ø£¨PøÍ ¤iUP ___________
£¯ß£kQÓx. 

(A) Pipe vice (B) Chain pipe vice 

 ø£¨ øÁì  ö\°ß ø£¨ øÁì 

(C) Bench vice (D) Pipe wrench 
 ö£ßa øÁì  ø£¨ ›ßa 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

110. What is the radius size for long radius elbow? 
AvP Bμ AÍÄ GÀ÷£õÂß Bμ AÍÄ ___________. 

(A) Equal the bore of the pipe 
 ø£¨&ß xøÍ AÍÄUS \©®  

(B) 1½ times bore of the pipe  

 ø£¨&ß xøÍ AÍÄUS 1½ ©h[S   

(C) 3 times bore of the pipe 

 ø£¨&ß xøÍ AÍÄUS 3 ©h[S  

(D) 2 times bore of the pipe 
 ø£¨&ß xøÍ AÍÄUS 2 ©h[S 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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111. Which type of filter is used to remove ferrous materials from oil in
hydraulic system? 
øímμõ¼U Aø©¨¤À Gsön°¼¸¢x C¸®¦ \õº¢u ö£õ¸mPøÍ APØÓ 
G¢u ÁiPmi £¯ß£kzu¨£kQÓx? 

(A) Pressure line filter (B) Offline filter 

 AÊzu ÁøP ÁiPmi  BL¨ø»ß ÁiPmi 

(C) Magnetic filter (D) Absorbent filter 
 Põ¢u ÁiPmi   EÔg_ ÁiPmi 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

112. Which valve is used to remove the excess amount of oil in the
hydraulic system? 
øímμõ¼U •øÓ°À AvP¨£i¯õÚ Gsön´ AÍøÁ }USÁuØS G¢u 
ÁõÀÄ £¯ß£kQÓx? 

(A) Pressure relief valve 
 AÊzu® ÂkÂ¨¦ ÁõÀÄ  

(B) Pressure reducing valve 

 AÊzu® SøÓ¨¦ ÁõÀÄ   

(C) Pressure regulator valve 
 AÊzu® Pmk¨£kzx® ÁõÀÄ  

(D) Roller valve 
 E¸øÍ ÁõÀÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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113. Which energy is present in oil by virtue of its motion? 
Gsön´ Auß C¯UPzvß ‰»® {PÊ® BØÓÀ GßÚ? 

(A) Potential energy (B) Kinetic energy 

 \õzv¯©õÚ BØÓÀ  C¯UP BØÓÀ 

(C) Static energy (D) Heat energy 
 {ø» BØÓÀ  öÁ¨£ BØÓÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

114. Which part of the single acting cylinder is attached with load? 
JØøÓ ö\¯À£õk E¸øÍ°ß G¢u £Sv _ø©²hß CønUP¨£mkÒÍx? 

(A) Spring (B) Seal 

 _¸ÒÂÀ  ^À 

(C) Piston (D) Piston rod 
 E¢x usk  E¢x usk P®¤ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

115. What is the science under that you study the properties and
application of air? 
PõØÔß £¯ß£õkPÒ ©ØÖ® £s¦PÒ £ØÔ }[PÒ £i¨£x GßÚ AÔÂ¯À 
RÌ C¸UQÓx? 

(A) Atmospheric pressure (B) Pneumatic system 

 ÁÎ©sh» AÊzu®  PõØÖ Aø©¨¦ 

(C) Hydraulic system (D) Mechanical system 
 vμÁ Aø©¨¦  C¯¢vμ Aø©¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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116. Which valve has two inlet/one outlet in hydraulic/pneumatic 
system? 
øímμõ¼U/~÷©miU Aø©¨¤À Cμsk ~øÇÁõ°À/J¸ öÁÎa ö\À¾® 
ÁÈ öPõskÒÍx 

(A) Slide valve (B) Check valve 

 |ÊÄ ÁõÀÄ  ÷\õuøÚ ÁõÀÄ 

(C) Shuttle valve (D) Solenoid valve 
 åmiÀ ÁõÀÄ  ö\õ¼Úõ´k ÁõÀÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

117. What is the operating voltage of electro pneumatics? 
G»Um÷μõ ~÷©miUì C¯UP ªßÚÊzu® GßÚ? 

(A) 10 V – 140 V (B) 12 V – 220 V 

(C) 15 V – 200 V (D) 200 V – 240 V 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

118. What is the formula for the cylinder output force? 
E¸øÍ öÁÎ÷¯ØÖ® Âø\UPõÚ Áõ´¨£õk GßÚ? 

(A) F = P/A × 10 (B) F = A/P × 10 

(C) F = P × A/10 (D) F = 10/P × A 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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119. Which formula is used to calculate force? 
Âø\ø¯ PnUQh EuÄ® Áõ´¨£õk Gx? 

(A) Pressure / Area (B) Pressure × Area 

 AÊzu® / £μ¨£ÍÄ  AÊzu® × £μ¨£ÍÄ 

(C) Pressure – Area (D) Pressure + Area 
 AÊzu® – £μ¨£ÍÄ  AÊzu® + £μ¨£ÍÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

120. Which formula is used to calculate the pressure? 
AÊzuzøu PnUQh EuÄ® Áõ´¨£õk Gx? 

(A) Force + Area (B) Force / Area 

 Âø\ + £μ¨£ÍÄ  Âø\ / £μ¨£ÍÄ 

(C) Force – Area (D) Force × Area 
 Âø\ – £μ¨£ÍÄ  Âø\ × £μ¨£ÍÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

121. In order to protect the slip gauges, which one of the following is
applied? 
ì¼¨ ÷PäPøÍ £õxPõ¨£uØPõP ¤ßÁ¸ÁÚÁØÔÀ G¢u JßÖ 
£¯ß£kzu¨£kQÓx? 

(A) Petrol (B) Petroleum jelly 

 ö£m÷μõÀ  ö£m÷μõ¼¯® öáÀ¼ 

(C) Diesel (D) Kerosene 
 j\À  ©sönsön´ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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122. Slip gauges are made up of  
ì¼¨ ÷PäPÒ CuÚõÀ ö\´¯¨£kQßÓÚ 

(A) Mild steel (B) Cast iron 

 ö©ß GLS  Áõº¨¦ C¸®¦ 

(C) Medium carbon steel (D) High grade steel 
 |kzuμ Põº£ß GLS  E¯ºuμ GLS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

123. Which one of the following is used to clean the slip gauges? 
¤ßÁ¸ÁÚÁØÖÒ G¢u JßÖ ì¼¨ ÷PäPøÍ _zu® ö\´¯ £¯ß£kQÓx?

(A) Kerosene (B) Carbon tetra chloride 

 ©sönsön´  Põº£ß öhmμõ S÷Íõøμk 

(C) Petrol (D) Distilled water 
 ö£m÷μõÀ  Ái }º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

124. Calculate the height of the slip gauges, if 2/130sin =°  and length 
of sine bar is 200 mm 

2/130sin =° , ø\ß £møh°ß }Í® 200 mm BPÄ® C¸¢uõÀ, ì¼¨ 
÷PäPÎß E¯μzøuU PnUQkP 

(A) 150 mm (B) 175 mm 

(C) 100 mm (D) 125 mm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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125. Which one of the following is suitable to scrap a bearing? 
¤ßÁ¸ÁÚÁØÖÒ G¢u JßÖ ÷£›[øP _μskÁuØS uS¢ux? 

(A) Flat scraper (B) Bull nose scraper 

 umøh _μsi  PõøÍ ‰US _μsi 

(C) Triangular scraper (D) Half round scraper 
 •U÷Põn _μsi  AøμÂmh _μsi 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

126. Another name of leaf jig is 
½L¨ âUQß ©ØöÓõ¸ ö£¯º 

(A) Post jig (B) Indexing jig 

 ÷£õìm âU  CßhU][ âU 

(C) Plate jig (D) Latch jig 
 ¤÷Ím âU  ÷»ma âU 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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127. The jig used to drill at angles other than 90° is 
90° I uÂμ ¤Ó ÷Põn[PÎÀ xøÍ°h EuÄ® âU Gx?  

(A) Box jig 
 £õUì âU  

(B) Angle plate jig 
 BßQÀ ¤÷Ím âU    

(C) Channel jig 
 ÷\ÚÀ âU  

(D) Modified angle plate jig 
 ©õØÔ¯ø©UP¨£mh B[QÀ ¤÷Ím âU 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

128. Which one of the following is non destructive testing? 
¤ßÁ¸ÁÚÁØÔÀ G¢u JßÖ AÈÂÀ»õ ÷\õuøÚ? 

(A) Crash testing (B) Hardness testing 

 ö|õÖ[S® ÷\õuøÚ  PiÚzußø© ÷\õuøÚ 

(C) Ultrasonic testing (D) Pressure testing 
 «ö¯õ¼ ÷\õuøÚ  AÊzu ÷\õuøÚ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   436–Fitter 
   

57

129. A plain ring gauge is used for checking 
J¸ \õuõμn ÁøÍ¯ AÍÂ CuøÚ ÷\õvUP¨ £¯ß£kQÓx  

(A) Taper holes 
 \›Ä xøÍ  

(B) External diameter of cylindrical parts  
 Ámh©õÚ £õP[PÎß öÁÎ Âmh®   

(C) Internal diameter of cylindrical parts 
 Ámh©õÚ £õP[PÎß EÒ Âmh®  

(D) Major diameter of external threads 
 öÁÎ©øμ°ß ö£›¯ Âmh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

130. Which of the following statement is correct? 
RÌPsh G¢u TØÖ \›¯õÚx? 

(i) Gauges are used to measure the size  
 AÍÄPøÍ AÍÂh AÍÂPÒ £¯ß£kzu¨£kQßÓÚ. 

(ii) Gauges are used to check the size 
 AÍÄPøÍ \›£õºUP AÍÂPÒ £¯ß£kzu¨£kQßÓÚ. 

(iii) Templates are used to check the size 
 AÍÄPøÍ \›£õºUP öh®¨÷Ím £¯ß£kzu¨£kQßÓÚ. 

(A) (i) only (B) (i) and (ii) only 

 (i) ©mk®  (i) ©ØÖ® (ii) ©mk® 

(C) (ii) only (D) (ii) and (iii) only 
 (ii) ©mk®  (ii) ©ØÖ® (iii) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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131. What are the screw used in places where fixing and removal of
components are frequent by finger tight? 
ÂμÀ CÖUPzuõÀ £õP[PøÍ ö£õÖzxuÀ ©ØÖ® APØÖÁx AiUPi 
|øhö£Ö® Ch[PÎÀ £¯ß£kzu¨£k® v¸SPÒ (ìS¸) ¯õøÁ? 

(A) Machine screws (B) Setscrew 

 ö©]ß ìS¸  ö\m ìS¸ 

(C) Thumb screw (D) Wing nut 
 u®¨ ìS¸  Â[ |m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

132. What is the shape of woodruff key? 
Emμ¨ \õÂ°ß ÁiÁ® GßÚ? 

(A) Cylinder (B) Semi circle 

 E¸øÍ  AøμÁmh® 

(C) Sphere (D) Triangle 
 ÷PõÍ®  •U÷Põn® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

133. A nut which can be tighten/loosen by thumb pressure and used in
hacksaw frame is called 
Pmøh ÂμÀ AÊzuzvß ‰»® CÖUPÄ® uÍºzuÄ® ©ØÖ® ÷íU\õ 

¤÷μªÀ £¯ß£kzu¨£k® |m ___________. 

(A) ring nut (B) thumb nut 

 ÷©õvμ |m  PmøhÂμÀ |m 

(C) cap nut (D) wing nut 
 ÷P¨ |m  Â[ |m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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134. Which key is transmitting more torque? 
G¢u \õÂ AvP hõºUøP PhzxQÓx? 

(A) Gib-head key (B) Woodruff key 

 â¨ uø» \õÂ  ÄmLμ¨ \õÂ 

(C) Feather key (D) Flat saddle key 
 CÓS (Lö£uº) \õÂ  umøh \õiÀ \õÂ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

135. What is the available range of individual radius gauges? 
uÛ ÁøP Bμ AÍÂ QøhUP¨ ö£Ö® Áμ®¦ GßÚ? 

(A) Step of 1 mm (B) Step of 0.5 mm 

 1 ª« £i°À  0.5 ª« £i°À 

(C) Step of 1.5 mm (D) Step of 2 mm 
 1.5 ª« £i°À  2 ª« £i°À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

136. What types of nuts are used in coach building works? 
÷£¸¢x EhØ Pmk©õÚ ÷Áø»PÎÀ GßÚ ÁøP |mkPÒ 
£¯ß£kzu¨£kQßÓÚ? 

(A) Square nut (B) T nut 

 \xμ |mk  T |mk 

(C) Wing nut (D) Cap nut 
 CÓS |mk   öuõ¨¤ |mk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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137. What is the advantages of lock washer? 
§mk® Áõå›ß |ßø©PÒ GßÚ? 

(A) To provide increased bearing surface 
 uõ[S® £μ¨ø£ AvP›UP  

(B) To prevent the damage to the surface 

 £μ¨¦ £ÊuøhÁøu £õxPõUP    

(C) To distribute even pressure on working surface 
 ÷Áø» £μ¨¤À AÊzuzøu ^μõP £Qº¢uÎUP  

(D) To prevent bolt or nut from loosening under vibration 
 AvºÂÚõÀ ÷£õÀm (A) |m uÍºÁv¼¸¢x £õxPõUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

138. Why slots are provided in the slotted castle nuts? 
ì»õmhk ÷PìiÀ |miÀ Hß ì»õmkPÒ Aø©UP¨£mkÒÍÚ? 

(A) to fix split pins 
 ¤ÍÄ ¤ßPøÍ ö£õ¸zu  

(B) for good appearance 

 |À» ÷uõØÓzvØPõP   

(C) to reduce the weight of the nut 
 |miß Gøhø¯ SøÓUP  

(D) for easy removal and fitment 
 GÎuõP PÇØÓÄ®, ö£õ¸zuÄ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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139. Which type of key used if the hub or pulley has to axially slide on
the shaft to some distance? 
usiß P¨¤ (A) Sh® Auß Aa]À ]Ôx yμ® |P¸ÁuØS G¢u \õÂ 
£¯ß£k®? 

(A) Feather key (B) Flat saddle key 

 CÓS \õÂ  umøh ÷\n \õÂ 

(C) Circular tapper key (D) Hallow saddle key 
 Ámh \›Ä \õÂ  EÒÍP ÷\n \õÂ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

140. How many set of feeler gauges? 
L¥Íº ÷PâÀ GzuøÚ ö\mPÒ EÒÍÚ? 

(A) 2 set (B) 4 set 

 2 ö\m  4 ö\m 

(C) 5 set (D) 6 set 
 5 ö\m  6 ö\m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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141. What is the primary function of the lathe bed? 
÷»z ö£m&ß •ußø© £o GßÚ? 

(A) To control the speed of the spindle 
 ì¤siÀ ÷ÁPzøu Pmk¨£kzu  

(B) To hold and rotate the work piece 

 áõ¨&I ¤izx _ÇØÓ   

(C) To provide a stable and aligned base for the lathe components 
 ÷»zvØS {ø»¯õÚ ©ØÖ® \› ö\´¯¨£mh AizuÍzøu ÁÇ[P  

(D) To support the tool post 
 lÀ ÷£õìm {ø» {ÖzxÁuØS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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142. What is the purpose of the tail stock? 
öh°À ìhõU&ß ÷|õUP® GßÚ? 

(1) To hold the long jobs 
 }Í©õÚ £o¨ö£õ¸øÍ ¤izx öPõÒÍ 

(2) To hold the drills 
 i›Àì&I ¤izx öPõÒÍ 

(3) To hold the cutting tools 
 Pmi[ lÀì&I ¤izx öPõÒÍ 

(4) To hold the reamers 
 Ÿ©øμ ¤izx öPõÒÍ 

(A) (1) and (3) are correct (B) (2) and (4) are correct 

 (1) ©ØÖ® (3) \›  (2) ©ØÖ® (4) \› 

(C) (2), (3), (4) are correct (D) (1), (2), (3), (4) are correct 
 (2), (3), (4) \›  (1), (2), (3), (4) \› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

143. Which one of the following has 29° as included angle? 
¤ßÁ¸ÁÚÁØÖÒ G¢u JßÖ 29° I Em÷Põn©õP ö£ØÔ¸UQÓx? 

(A) Buttress Thread (B) Knuckle Thread 

 £mμì vöμm  |USÒ vöμm 

(C) Acme Thread (D) BSW Thread 
 AUª vöμm  ¤.Gì.h¦Ò³. vöμm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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144. What is the maximum swiveling angle of the compound rest in the
lathe machine? 
÷»z C¯¢vμzvÀ Põ®ö£Ísm öμìm ß AvP£m\ _Ç¾® ÷Põn® GßÚ?

(A) 360° (B) 180° 

(C) 90° (D) 60° 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

145. What is the meaning of OSH? 
OSH GßÓõÀ GßÚ? 

(A) Organization Safety and Health 
 Aø©¨¦ £õxPõ¨¦ ©ØÖ® B÷μõUQ¯®  

(B) Occupational Safety and Health 

 öuõÈ»P £õxPõ¨¦ ©ØÖ® B÷μõUQ¯®  

(C) Office Safety and Health 
 A¾Á»P £õxPõ¨¦ ©ØÖ® B÷μõUQ¯®  

(D) Occupational Surveillance and Hazard 
 öuõÈ»P PsPõo¨¦ ©ØÖ® A£õ¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

146. What is the standard colour code used for waste metal bin? 
E÷»õP PÈÄ ö£õ¸mPøÍ ÷\P›UP G¢u P»º öuõmi £¯ß£kzu¨£kQÓx? 

(A) Red (B) Blue 

 ]P¨¦  }»® 

(C) Green (D) Violet 
 £aø\  Fuõ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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147. Primary function of the headstock in a lathe machine is  
÷»z C¯¢vμzvÀ öím ìhõU&ß •ußø© ÷Áø» GßÚ? 

(A) to hold the tool 
 P¸Âø¯ ¤izx øÁ¨£x  

(B) to hold, support and rotate the work piece 

 áõ¨&I ¤iUPÄ® uõ[PÄ® ©ØÖ® _Ç»Ä®   

(C) to control the coolant flow 
 E¯Ä vμÁzøu Pmk¨£kzuÄ®  

(D) to move the carriage 
 ÷P÷μä&I |PºzuÄ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

148. How should a rotating chuck should be handled in a lathe machine?
÷»z C¯¢vμzvÀ _Ç¾® \UøP GÆÁõÖ øP¯õÍ ÷Ásk®? 

(A) keep hands and tools away from the rotating chuck 
 øP ©ØÖ® P¸ÂPøÍ _Ç¾® \UQ¼¸¢x yμ©õP øÁzv¸UP 

÷Ásk®  

(B) adjust the chuck while it is spinning 

 \U _Ç¾® ÷£õx Aøu ¦x¨¤UPÄ®   

(C) operate the lathe without any safety-guards 
 £õxPõ¨¦ PÁ\ªßÔ ÷»zøu C¯UPÄ®  

(D) remove the chuck when the machine is running 
 C¯¢vμ® Kk® ÷£õx \UøP APØÓÄ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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149. The included angle of the counter sinking portion of a center drill of
type ‘B’ is 
J¸ ‘B’ ÁøP ö\ßhº i›À¼ß PÄshº æ[Q[ £Sv°À Aø©¢xÒÍ 
CßS÷»hk B[QÒ  

(A) 75° (B) 90° 

(C) 100° (D) 120° 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

150. In cutting tools the side rake angle is varies from  
Pmi[ lÀPÎÀ ø\k ÷μU B[QÒ Aø©UP¨£k® ÷Põn AÍÄ 

(A) 0° to 20° (B) 10° to 30° 

 0° •uÀ 20° Áøμ  10° •uÀ 30° Áøμ 

(C) 30° to 40° (D) 40° to 60° 
 30° •uÀ 40° Áøμ  40° •uÀ 60° Áøμ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

151. Scroll and gear mechanism is employed in 
_¸Ò ©ØÖ® Q¯º ö©UPõÛ\® Aø©¢v¸¨£x CuÛÀ 

(A) Three jaw chuck (B) Four jaw chuck 

 zŸ&áõ \U  L÷£õº áõ \U 

(C) Magnetic chuck (D) Collet chuck 
 ÷©UÚmiU \U  Pö»m \U 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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152. Which one of the following is used to hold cylindrical rough casting
for turning?  
uμ¨£mkÒÍÁØÔÀ G¢u JßÓõÚx Pøh\À ö\´¯ ÷Ási¯ ]¼sh›PÀ 
μL¨ Põìi[øP ¤iUP EuÄQÓx? 

(A) Three jaw chuck (B) Four jaw chuck 

 zŸ áõ \U  L÷£õº áõ \U 

(C) Collet chuck (D) Magnetic chuck 
 Pö»m \U  ÷©UÚmiU \U 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

153. The lathe bed has 
÷»z ö£miÀ C¸¨£x 

(A) One set of 'V' guideway and flat ways  

 J¸ ö\m 'V' øPk÷Áì ©ØÖ® L¤Íõm ÷Áì   

(B) Two set of 'V' guideway and flat ways 

 C¸ ö\m 'V' øPk÷Áì ©ØÖ® L¤Íõm ÷Áì    

(C) Three set of 'V' guideway and flat ways  
 ‰ßÖ ö\m 'V' øPk÷Áì ©ØÖ® L¤Íõm ÷Áì    

(D) Four set of 'V' guideway and flat ways 
 |õßS ö\m 'V' øPk÷Áì ©ØÖ® L¤Íõm ÷Áì  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



436–Fitter 
 

68

154. Which one of the following is not a part of the center lathe? 
uμ¨£mkÒÍÁØÔÀ G¢u J¸ £õP® ö\ßhº ÷»zvØS›¯uÀ»? 

(A) Saddle (B) Feed rod 

 ÷åiÀ  L¥k μõk 

(C) Arbor (D) Lead screw 
 Bº£º  ½k ìS¹Æ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

155. An oily floor should be cleaned by 
B°À £i¢xÒÍ uÍzøu/uøμø¯ _zu® ö\´¯ ÷Ási¯x CuøÚU 
öPõs÷h 

(A) Cotton waste  

 Põmhß ÷ÁìøhU öPõsk   

(B) Putting water 

 uspøμU öPõsk   

(C) Putting saw dust  
 ©μzxPÒPøÍU öPõsk   

(D) Spraying carbon dioxide/sand 
 Põº£ß&øh&BUøéøh/©nÀ ë¤÷μ ö\´x 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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156. Below given the statement which one is not true? 
R÷Ç öPõkUP¨£mh TØÖUPÎÀ G¢u JßÖ \›¯õÚx AÀ»? 

(A) 4 - jaw chuck is used for eccentric job  

 |õßS uõøh PÆÂ ø©¯ Â»S Pøh\¾US £¯ß£kQÓx   

(B) 3 - jaw chuck is used for eccentric job  

 ‰ßÖ uõøh PÆÂ ø©¯ Â»S Pøh\¾US £¯ß£kQÓx   

(C) Jaws of lathe chuck are made by high carbon steel  
 ÷»z \UQß áõUPÒ E¯º{ø» P› GLU BÀ ö\´¯¨£mi¸US® 

(D) Jaws of 3 - jaw chuck can be moved simultaneously 
 ‰ßÖ uõøh PÆÂ°ß uõøhPøÍ J÷μ ÷|μzvÀ |Pºzu»õ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

157. In lathe operations, recommended cutting speed to turn mild steel is
÷»z ö\¯À£õkPÎÀ, ö©ß GLS&øÁ PøhÁuØS £›¢xøμUP¨£k® 

öÁmk ÷ÁP® ___________. 

(A) 35 to 50 m/min (B) 60 to 75 m/min 

 35 •uÀ 50 «/{ªh®  60 •uÀ 75 «/{ªh® 

(C) 80 to 90 m/min (D) 95 to 110 m/min 
 80 •uÀ 90 «/{ªh®  95 •uÀ 110 «/{ªh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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158. What is plain turning in lathe machining? 
÷»z C¯¢vμzvÀ ‘¤øÍß hºÛ[’ GßÓõÀ GßÚ? 

(A) Removing material to create a flat surface  

 J¸ \©©õÚ ÷©Ø£μ¨ø£ E¸ÁõUP E÷»õPzøu APØÖÁx   

(B) Creating a cylindrical shape by removing material 

 J¸ _Ç¾® ÁiÁzøu E¸ÁõUSÁuØPõP ö£õ¸øÍ APØÖÁx  

(C) Cutting material at an angle to produce a conical shape  
 J¸ ÷Põn ÁiÁzøu E¸ÁõUP ÷Põn©õP öÁmkÁx   

(D) Shaping material by using a rotating tool to make intricate 
designs 

 ]UP»õÚ ÁiÁ[PøÍ E¸ÁõUSÁuØS _Ç¾® P¸Âø¯ £¯ß£kzv 
ö£õ¸øÍ ÁiÁø©¨£x 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

159. What does red hardness refer in the context of lathe cutting tools? 
÷»z C¯¢vμzvÀ Red hardness&ß £¯ß GßÚ? 

(A) The tool is ability to maintain hardness at high temperature  

 AvP öÁ¨£{ø»PÎÀ P¸Â°ß PiÚzøu uUPøÁUS® vÓß  

(B) The tool is ability to resist corrosion 

 A›¨¦ ußø©ø¯ GvºUS® vÓß   

(C) The tool ability to conduct electricity  
 ªß\õμ® Phzx® vÓß   

(D) The tool ability to remain sharp at low temperature 
 SøÓ¢u öÁ¨£{ø»°À Tºø©¯õP C¸US® P¸Â°ß vÓß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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160. What is the main function of the carriage in a lathe machine? 
÷»z C¯¢vμzvÀ ÷P÷μä&ß •UQ¯ ÷Áø» GßÚ? 

(A) To move the cutting tool along the length of the work piece  

 öÁmk P¸Âø¯ áõ¨¤ß }ÍzvØS |PºzxuÀ   

(B) To hold and support the work piece 

 áõ¨&I ¤izx ÁÈ |hzxuÀ   

(C) To provide rotational motion to the spindle  
 ì¤ßi¾US _ÇØ]ø¯ HØ£kzxuÀ   

(D) Control the speed of the lathe 
 ÷»zvß ÷ÁPzøu Pmk¨£kzu 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

161. Which of the following is a recommended safety practice for lifting
and handling loads? 
GøhPøÍ yUS® ÷£õx® ©ØÖ® øP¯õÐ®÷£õx® £õxPõ¨¦ 
|øh•øÓ°À Gx £›¢xøμUP¨£kQÓx? 

(A) Wear wood hand gloves  

 ©μzvÚõÀ BÚ øP²øÓ AouÀ   

(B) Wear rubber hand gloves 

 μ¨£›ÚõÀ BÚ øP²øÓ AouÀ    

(C) Wear leather hand gloves  
 ÷uõ¼ÚõÀ BÚ øP²øÓ AouÀ    

(D) Wear plastic hand gloves 
 ¤ÍõìiU BÀ BÚ øP²øÓ AouÀ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



436–Fitter 
 

72

162. PPE2 means 
PPE2 Gß£x 

(A) Ears protection  

 Põx £õxPõ¨¦ PÁ\®   

(B) Eyes and face protection 

 Ps ©ØÖ® •P® £õxPõ¨¦ PÁ\®   

(C) Helmet  
 uø»PÁ\®   

(D) Safety foot wear 
 £õxPõ¨¦ Põ»oPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

163. Which one of the following is a common for the disposal of hazardous
waste materials? 
¤ßÁ¸ÁÚÁØÔÀ A£õ¯Pμ©õÚ PÈÄ¨ ö£õ¸mPøÍ APØÖÁuØPõÚ 
ö£õxÁõÚ •øÓ Gx? 

(A) Land filling (B) Incineration 

 {»zvÀ ¦øu¨£x  G›zx \õ®£»õUSuÀ 

(C) Recycling (D) Composting 
 ©Ö _ÇØ] ö\´uÀ  Eμ©õUSuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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164. What should be used to arrange the tools? 
P¸ÂPøÍ JÊ[S£kzu GßÚ £¯ß£kzu ÷Ásk®? 

(A) Rakes (B) Glasses 

 ÷μUSPÒ  Psnõi°À 

(C) Tables (D) Floor 
 ÷©øá°À  uøμ°À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

165. Which type of Rack can be used to protect tools during hot work? 
öÁm£©õÚ ÷Áø» ö\´²® ÷£õx P¸ÂPøÍ £õxPõUP G¢u Âu©õÚ 
÷μUì £¯ß£kzu¨£kQßÓx? 

(A) Pallet Racks (B) Silver Racks 

 ÷£»m ÷μUì  ]ÀÁº ÷μUì 

(C) Diamond Racks (D) Pack Racks 
 øh©sm ÷μUì  ÷£U ÷μUì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

166. How much pressure can the bend stage spine bear? 
ÁøÍ¢v¸US® ÷£õx •xöP¾®¦ GzuøÚ ©h[S AÊzuzøu uõ[S® 
ußø© Eøh¯x? 

(A) 1 (B) 4 

(C) 3 (D) 6 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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167. Why 5S method followed in a workshop? 
÷Áø» ö\´²® ChzvÀ 5S •øÓ £¯ß£kzu Põμn® GßÚ? 

(A) To increase production speed only  

 EØ£zv ÷ÁPzøu ©mk® AvP›UP   

(B) To reduce the need of training 

 £°Ø]°ß ÷uøÁø¯ SøÓ¨£uØS   

(C) To minimise equipment maintenance  
 E£Pμn £μõ©›¨ø£ SøÓ¨£uØS   

(D) To improve organization and working system 
 £o Aø©¨¦PÒ ©ØÖ® £o |øh•øÓPøÍ ÷©®£kzu  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

168. 5S principle derived from 
5S uzxÁ® ö£Ó¨£mhx 

(A) Singapure (B) Japan 

 ][P¨§º  á¨£õß 

(C) America (D) China 
 Aö©›UPõ  ^Úõ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

169. What is the primary cause of a power failure? 
ªß Aøn¨¦ HØ£kÁuØS •ußø© Põμn® GßÚ? 

(A) Over loaded circuits (B) High voltage 

 AvPÍÄ ªß\õμa _ÇØ]  E¯º ªß÷Úõmh® 

(C) Low voltage (D) Power surge 
 SøÓ¢u ªß÷Úõmh®  ªß £μÁÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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170. Which one of the following are bug categories in system failure? 
]ìh® ö£°¼¯º £LS ÁøPPÎÀ RÌPsh JßÖ Gx? 

(A) Cup bug (B) Down bug 

 P¨ £LS  hÄß £LS 

(C) Brain bug (D) Right bug 
 ¤øμß £LS  øμm £LS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

171. What elements are needed to lift an object's weight? 
J¸ ö£õ¸Îß Gøhø¯ yUSÁuØS GßÚ TÖPÒ ÷Ásk®? 

(A) Body building, status, experience, peace  

 EhØPmk, {ø», AÝ£Á®, Aø©v   

(B) Age, body building, status, experience 

 Á¯x, EhØPmk, {ø», AÝ£Á®   

(C) Age, body building, status, peace  
 Á¯x, EhØPmk, {ø», Aø©v   

(D) Status, body building, experience, character 
 {ø», EhØPmk, AÝ£Á®, ußø© 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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172. White symbol on green back ground with square of oblong shape is? 
ö\ÆÁPzvß \xμ® ÁiÂ»õÚ £aø\ {Ó ¤ß¦»zvÀ öÁÒøÍ {Ó 
SÔ±kPÒ ö£õÔUP¨£mi¸¨¤ß AøÁPÒ 

(A) Prohibition signs (B) Mandatory signs 

 uøh SÔ±kPÒ  Pmhõ¯ SÔ±kPÒ 

(C) Warning signs (D) Information signs 
 Ga\›UøP SÔ±kPÒ  uPÁÀ SÔ±kPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

173. The final 'S' of in the '5S' concept is 
'5S' öPõÒøP°À CÖv¯õÚ 'S' Gx? 

(A) Sort (B) Set in order 

 \õºm  ö\m Cß Bºhº 

(C) Shine (D) Sustain 
 øåß  \ìöh°ß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

174. What colour code is used for recycling bin for metal? 
C¸®¦ PÈÄPøÍ ©Ö_ÇØ] ö\´¯ G¢u {Ó öuõmiPÒ 
£¯ß£kzu¨£kQßÓx? 

(A) Yellow (B) Red 

 ©g\Ò  ]Á¨¦ 

(C) Green (D) Black 
 £aø\  P¸¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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175. Which of the following is a common cause of COMA? 
¤ßÁ¸ÁÚÁØÔÀ ÷Põ©õÂß ö£õxÁõÚ Põμn® Gx? 

(A) Common cold (B) Stroke 

 \õuõμn \Î  £UPÁõu® 

(C) Minor cut (D) Muscle strain 
 ]Ô¯ öÁmk  uø\ ¤i¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

176. Which type of safety sign uses a red color with a diagonal line
through it? 
G¢u ÁøP¯õÚ £õxPõ¨¦ Aøh¯õÍ® Auß ÁÈ¯õP J¸ ‰ø»Âmh ÷Põk 
öPõsh ]Á¨¦ {ÓzvÀ SÔURmk ÷Põk EÒÍx? 

(A) Warning sign  

 Ga\›UøP Aøh¯õÍ ]ßÚ®   

(B) Prohibition sign 

 uøha ]ßÚ®   

(C) Mandatory signs  
 Pmhõ¯ ]ßÚ®   

(D) Emergency information signs 
 AÁ\μ uPÁÀ Aøh¯õÍ ]ßÚ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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177. ABC in first aids 'A' denoted by 
•u¾uÂ°À SÔ¨¤h¨£k® ABC °À 'A' Gß£x Gøu SÔUQßÓx? 

(A) Air (B) Airway 

 PõØÖ  PõØ÷Óõmh® 

(C) Air condition (D) Air circulation 
 SÎ¹mi  PõØÖ _ÇØ] 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

178. Emergency service in police and fire service number is 
÷£õ½ì EuÂ ©ØÖ® w¯øn¨¦ AøÇ¨£uØPõÚ \ºÂì Gs 

(A) 100, 101 (B) 108, 101 

(C) 121, 101 (D) 109, 100 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

179. Which safety symbol indicates that Personal Protective Equipment
(PPE) must be worn? 
G¢u £õxPõ¨¦ ]ßÚ® ußÛø» £õxPõ¨¦ \õuÚ[PÒ (PPE) Ao¯ 
÷Ásk® Gß£øu SÔUS®? 

(A) Warning triangle  

 Ga\›UøP •U÷Põn®   

(B) Skull and cross bones 

 ©søh Kk ©ØÖ® SÖUS G¾®¦PÒ   

(C) Gloves required  
 øP²øÓPÒ ÷uøÁ   

(D) Locked out 
 §mh¨£mhx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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180. Which of the following is a common method for disposing of metal
scraps in a workshop? 
£o©øÚ°À E÷»õP PÈÄPøÍ APØÖÁuØPõÚ ö£õxÁõÚ •øÓ Gx? 

(A) Incineration (B) Land filling 

 G›zx \õ®£»õUSuÀ  ¦øuzuÀ 

(C) Recycling (D) Composting 
 ©Ö _ÇØ]  Eμ©õUSuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

181. –––––––––– is a benefit of using rack and pinion mechanism. 
÷μU ©ØÖ® ¤Û¯ß •UQ¯ ÷|õUP® ___________. 

(A) They provide variable speed control  

 ©õÖ£mh ÷ÁP Pmk¨£õmøh ÁÇ[SQÓx   

(B) They convert rotational motion into linear motion 

 _ÇØ]°ß C¯UPzøu ÷|μi C¯UP©õP ©õØÖQÓx   

(C) They are used high torque application  
 AøÁ øí hõºQ°ß power & US £¯ß£kQÓx   

(D) They offer continuous motion without stopping 
 {ÖzuªßÔ öuõhºa]¯õÚ C¯UPzøu öPõkUQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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182. How does find helical gear? 
öí¼UPÀ Q¯øμ GÆÁõÖ Psk¤i¨£x? 

(A) Teeth are parallel to the axis of rotation  

 £ØPÒ Aa_US Cøn¯õP C¸US®   

(B) Teeth are cut at an angle to the axis of rotation 

 £ØPÒ _Ç¾® Aa_US ÷Põn©õP C¸US®   

(C) Teeth are curved 
 £ØPÒ ÁøÍÁõP C¸US®    

(D) Teeth are straight and perpendicular of the axis 
 £ØPÒ ÷|μõP Aa_US Cøn¯õP C¸US® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

183. –––––––––– type of drive is commonly used for mining industry. 
_μ[P xøÓ°À ___________ ÁøP iøμÆ £¯ß£kzu¨£kQÓx. 

(A) Belt drive (B) Hydraulic drive 

 ö£Àm C¯UP®  øíiμõ¼U C¯UP® 

(C) Rope drive (D) Chain drive 
 ÷μõ¨ C¯UP®  ö\°ß C¯UP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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184. In fast and loose pulley system, –––––––––– pulley is responsible for 
transmitting power? 
£õìm ©ØÖ® ¿ì ¦ÒÎ°À £Áº PhzxÁx ___________. 

(A) Loose pulley (B) Fast pulley 

 ¿ì ¦À¼  £õìm ¦À¼ 

(C) Both pulley (D) None of the pulley 
 Cμsk ¦À¼PÐ®  CvÀ GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

185. –––––––––– type of coupling is designed to accommodate slight
misalignment between shaft? 
åõ¨mPÐUS Cøh÷¯ EÒÍ Chzøu \ØÖ Cøh±k JzxUöPõÒÍ 

___________ P¨Î[ EÒÍx. 

(A) Rigid coupling (B) Fluid coupling 

 ›âm P¨Î[  vμÁ P¨Î[ 

(C) Flexible coupling (D) Magnetic coupling 
 ÁøÍ²® P¨Î[  ÷©[öÚiU P¨Î[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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186. —————— is a significant advantage of using helical gear over
spur gear. 
ì£º Q¯¸hß J¨¤k® ÷£õx öí¼UPÀ Q¯ºPøÍ £¯ß£kzxÁuß 
÷|õUP®  

(A) Higher noise level  

 AvP \zu AÍÄPÒ   

(B) Lower cost 

 SøÓÁõÚ ö\»Ä  

(C) Less efficient power transmission 
 SøÓÁõÚ vÓß ußø©   

(D) Smoother and quieter operation 
 ªu©õÚ ©ØÖ® Aø©v¯õÚ ö\¯À£õk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

187. The uses of V-Belt in power transmission is  
£Áº iμõßìªåÛÀ V-Belt G[S £¯ß£kzu¨£kQÓx? 

(A) Transmitting power between two parallel shafts  

 Cμsk \©a^μõÚ \õ¨m&À \Uvø¯ £›©õØÓ® ö\´¯   

(B) Providing timing and synchronization between gears 

 ~qUP©õÚ ÷|μzøu²® Jzvø\²® ÁÇ[P   

(C) Connecting electrical components in circuits  
 ªßÁøÍ¯[PÎÀ ªßÛ¯À TÖPøÍ CønUP   

(D) Transmitting fluid between reservoirs 
 ›\ºÁõ¯›À vμÁzøu ÷\ªUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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188. Which bearing carry the load parallel to its bearing axis? 
G¢u ÷£›[ BÚx Auß _ø©ø¯ Aa_US Cøn¯õP _©UQÓx? 

(A) Split bearing (B) Plain bearing 

 ì¤¼m ÷£›[  ¤öÍß ÷£›[ 

(C) Thrust bearing (D) Radial bearing 
 vμìm ÷£›[  ÷μi¯À ÷£›[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

189. In a bearing, what are the two main types of races? 
÷£›[&À •UQ¯©õÚ Cμsk ÷μ\ì GßÚ? 

(A) Single and double (B) Small and big 

 JØøÓ ©ØÖ® Cμmøh  ]Ô¯x ©ØÖ® ö£›¯x 

(C) Inner and outer (D) Upper and lower 
 EÒ ©ØÖ® öÁÎ  ÷©À ©ØÖ® RÌ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

190. What are the common material used for solid bearing housing? 
vh ÷£›[&ß Housing GÚ¨£k® Tk G¢u E÷»õPzuõÀ 
u¯õ›UP¨£kQÓx?  

(A) Plastic and rubber (B) Cast Iron 

 ¤ÍõìiU ©ØÖ® μ¨£º   Áõº¨¤¸®¦ 

(C) Ceramic (D) Glass 
 ÷\μõªU  Psnõi 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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191. What does 'TPM' stand for? 
'TPM' ß ÂÍUPö©ßÚ? 

(A) Total Productive Maintenance  
 öhõhÀ ¦μöhUiÆ ö©°ßöhÚì  

(B) Total Productive Management 

 öhõhÀ ¦μöhUiÆ ö©÷Úäö©sm   

(C) Total Predictive Maintenance  
 öhõhÀ ¤›iUiÆ ö©°ßöhÚì   

(D) Total Productive Machinery 
 öhõhÀ ¦μöhUiÆ ö©]Ú› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

192. Name the knot which is used to secure rope on small pipe or ring. 
]Ô¯ ø£¨ AÀ»x ÁøÍ¯[PÎÀ Pmh £¯ß£k® ÷μõ¨ •ia]ß ö£¯º 
GßÚ? 

(A) Bowline knot (B) Square knot 

 AÂÌ •ia_  \xμ •ia_ 

(C) Slip knot (D) Double hitch knot 
 |ÊÄ® •ia_  Cμmøh öuõÊÄ •ia_ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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193. Which type of lubrication system is used in an oil engine cylinder? 
G¢u ÁøP E¯Ä AøÚ¨¦ B°À Cßâß ]¼shºPÎÀ £¯ß£kQÓx? 

(A) Force feed method (B) Gravity feed method 

 Âø\ Fmh •øÓ  Dº¨¦ Fmh •øÓ 

(C) Splash method (D) Sight feed method 
 öuÎ¨¦ •øÓ  £õºøÁ Fmh •øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

194. Which one of the following is not used as grouting material? 
RÌPshÁØÖÒ Gx JßÖ ‘U¸mi[’ ö£õ¸Ò BP £¯ß£kzu¨£kÁvÀø»?

(A) Cement concrete (B) Sulphur 

 ]ö©sm PõßQŸm  \À£º 

(C) Lead (D) Tin 
 ö»m  iß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

195. Which one of the following types of knots is used for shortening a
rope without cutting? 
J¸ ÷μõ¨ø£ öÁmhõ©À Auß }Ízøu SøÓUP¨ £¯ß£k® |õm ÁøP 
Gx? 

(A) Square knot (B) Slip knot 

 ìöPõ¯º |õm  ì¼¨ |õm 

(C) Bowline knot (D) Sheep shank knot 
 ö£Íø»ß |õm  ^¨ öå[U |õm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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196. A triped is a device, which consists of 
•UPõ¼ GÝ® \õuÚ® ö£ØÔ¸US® PõÀPÎß GsoUøP 

(A) One leg (B) Two legs 

 J¸ Põ¾hß  Cμsk PõÀPÐhß 

(C) Three legs (D) Four legs 
 ‰ßÖ PõÀPÐhß   |õßS PõÀPÐhß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

197. The "vial" of spirit level is on 
μ\ ©mhzvß Â¯À GÝ® £õP® Cuß «x Aø©UP¨£mi¸US® 

(A) Cast iron base (B) Mild steel base 

 Áõº¨¦ C¸®¦ Ai¨£õP®  ö©ß GLS Ai¨£õP® 

(C) Wrought iron base (D) High carbon steel base 
 ÷uÛ¸®¦ Ai¨£õP®  E¯º Põº£ß GLS Ai¨£õP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

198. Levelling bolts are used for 
CuØPõP ö»Á¼[ ÷£õÀmkPÒ £¯ß£kQßÓÚ 

(A) Supporting the load of the machine  

 ö©æß ÷»õøh \¨÷£õºmi[ ö\´uÀ    

(B) Adjusting height of the machine 

 ö©æß øímøh (E¯μ®) Amáìi[ ö\´uÀ   

(C) Maintaining rigidity of the machine  
 ö©æÛß vhzußø©US   

(D) Reducing the noise of machine 
 C¯¢vμzvß \¨uzøuU SøÓUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   436–Fitter 
   

87

199. Most common type of cutting fluid used in almost all the machining
operation is 
ö£¸®£õ»õÚ ö©æß B£÷μåßPÐUS ö£õxÁõP £¯ß£kzu¨£k® 
Pmi[ L¨Ñ¯m ÁøP 

(A) Water (B) Land oil 

 Áõmhº  »õßk Gsön´ 

(C) Soluble oil (D) Compressed air 
 Pøμ¯UTi¯ Gsön´  AÊzuU PõØÖ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

200. Best example for gravity feed lubrication is 
¦ÂDº¨¦ Fmh (QμõÂmi L¥k) ¿¨›÷PskUPõÚ ]Ó¢u Euõμn® 

(A) Grease gun (B) Ring lubrication 

 QŸì Ps  ›[ ¿¨›÷Påß 

(C) Splash lubrication (D) Wick feed lubrication 
 ì¤»õè ¿¨›÷Påß  ÂU L¥k ¿¨›÷Påß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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